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Topic:- Child Development & Pedagogy (CDP)

1) The two main motivation categories of needs are . | ATAAHdT DI @ 8T W& Ao
gl

1. reward based and fear-based / Uicgrea 3MaTRG 3R 97 3maTRa

2. intrinsic and reward based / 37Tde 3R Uicdrea 3maTRd

3. intrinsic and extrinsic / 3TdRe 3T am@r

4. extrinsic and fear-based / el 3R 87 3maRA

Correct Answer :-

« intrinsic and extrinsic / 3TdRe& 3 am&T

2) stage is termed as ‘Questioning Age’ as well as ‘Gang Age’. / ITEAT FY
FAIAIT V¢ F WA-FTT A ¥ ot Fgr S T

1. Adolescence / foheIR

2. Adulthood / STEH

3. Early Childhood / URTFHG FaU
4, Later Childhood / T%I U<

Correct Answer :-

o Later Childhood / T U

3) Applied behavior analysis (ABA) is used to help children with which of the following
conditions? / TIIFA sqqeR favawor (v.dl.w.) 1 gAvr g=al fr Arafaf@a & & ey ufa &
#ieg FA & faw frar smar 82

1. Attentional deficit disorder / <ITATHTT fIhR (3=l BpRAC BE3E)
2. Dyslexia / )Uga TFd=dl gaear (feeaifaaan)



3. Autism / EIAdT (3ifesH)

4. Dyspraxia / dfq@dd=ad dwey (FFaviear)

Correct Answer :-

« Autism / TTIAdT (3ifesa)

4) Mnemonics is a technique. / Fﬂﬁ'ﬁ?ﬂﬂ' T dJFAIF B
1. Reading / UToe

2. Writing / 1@<l

3. Evaluating / W
4. Memorizing / g IWGAT

Correct Answer :-

« Memorizing / IT¢, IQAT

5) What is the term used by Vygotsky to describe the type of role that parents and teachers have in a

child’s development? / & e & fasma # aATar-far 3k Ramrc @ qfds &1 v Fa & v
argeicHeh! G@RT fhw ug FT 39Alr R I 82

1. Scissoring /@ digur (Rsifa)
2. Scaffolding / ATHATTSIG TEIAT (ThHifesd)
3. Lecturing / <IT&ATd

4. Teaching , fRU870T

Correct Answer :-

« Scaffolding / TTHATSIG TEIAT (FhBITesdT)

6) What is the term used to describe the typical, highly representational example of a particular
concept? / T Ry auron & fafdse, 359 AwIor are 3ERIOT FT Ui F F v fFE g =7
39T fRaT STar €2

1. Heuristic / 3{#ATN
2. Symbol / &hd
3. Prototype / WiCIersg



4. Premise / URER (fAH)

Correct Answer :-

« Prototype / WIERIST

7) What type of questions would likely measure abstract reasoning in an intelligence test? / Teh gﬂ'ﬁﬂlﬁT
qdieTor # R UER & oAl F AT dF F AN HY FHTEAT 87

1. Comprehension / ¢
2. Matrix reasoning / #f¢eFq dh
3. Synonyms / THTATE eq

4, Similarities / FHTAQTT

Correct Answer :-
e Similarities / TATAATT

8) What are tests that taken into account the environment in which a child learns called? /

W FiT F qdigmor § N 37 AT B ca H W@ § WA v g7 Afw wa §2
1. Accuracy tests / URR[EdT Tdafor

2. Power tests / &THAT TII&TOT

3. Culture fair tests / HEPId fATTST T8O

4. Speed tests / afa adreTor

Correct Answer :-

o Culture fair tests / W‘v_f{»% facger gdreqor

9) What from the following options constitute language and thought together?/ AFafaf@a Rweul & ¥
smaT 3R AR v @ T g d §?

1. Spatial thinking/ ¥Tfeleh ide
2. Logical thinking/ a& f&der
3. Visual thinking/ T f&ida

4. Verbal thinking/ #f&® Rida

Correct Answer :-

e Verbal thinking/ #lf&® Rida



10) To do well as a financier, one should have: / T& BISAET & T H ITOT FA & fow, Fdt &
9 g aIfRe:

1. Musical intelligence/ TN g%'

2. Kinesthetic intelligence/ I gfg (FrsaiEdfesd sefeeid)
3. Spatial intelligence / faW g (FAFATer sforeid)

4. Logical intelligence/ ATfchen g@'

Correct Answer :-

» Logical intelligence/ arfhen g@'

11) An investigator doing laboratory experiments and gathering data comes under: / U&% 3=d¥&
YARTRITET & YWY FT FA|T THIAT FT & I8 fFad Aaea rar 32

1. primary data/ GTIfHe® 37Tdhs
2. final data/ 3ifQaT 37T

3. tertiary data/ Q?ﬁ'qiﬁ Hips
4. secondary data/ 3710T TS

Correct Answer :-

« primary data/ UTfH® 37T

12) Human development is a process. / AT RAFT TR gfsrar gl

1. Sporadic / 3cTaTEAd (TURTSH)

2. Random / Irsfesd (N5H)

3. Cumulative / <Y (FgHAelTea)
4. Intermittent / AR (FeXTHET)

Correct Answer :-

« Cumulative / I (FgHeITed)

13) Which of the following is NOT the benefit of active learning? / RF=ifaf@ad & ¥ sla-ur afpy
I FT1 AT AE 2

1. Develops Collaborative skills / G&TIMcHb PR TARAT BT



2. Home work / U]}’C-Eﬁl?j' (Y1 Th)
3. Improves critical thinking / ATelTdellcdd AT PN d&dX ddlell
4. Encourages risk taking / SNT&H ol Pl WcATfed e

Correct Answer :-

» Home work / UE-EFR? (8197 Tadh)

14) Which of the following is not an aspect of learning? / fAFafaf@a & ¥ =la-ar JfIF F1
YEe ool 872

1. Biological preprogramming / Sifads SgTamfaaT
2. Permanence / Ta1RIca
3. Behavioural change / <ddeR oRade

4. Experience / 3Hd

Correct Answer :-
« Biological preprogramming / Sifde doranfaier

15) In order to avoid punishment, it is always better to obey the rules. This kind of acceptance is seen in
which of the following stages of moral development? / TS ¥ T9a & faw, AgaAl &1 qreer FI=T g2
dFR g 71 Peafef@a # @ frw o 7 dAfvw Bew & 3w @il w1 @ Jmer 82

1. Postconventional morality/ U9T URUR® =ATdddr

2. Transcendental morality/ URclifches Afddhdl (CTedscel ARITET)
3. Conventional morality/ URUR@® Afdadr
4. Preconventional morality / qd URURe =Afdedar

Correct Answer :-

« Preconventional morality / & URURe =Afderdr

16) If a child loses weight rapidly and does not seem to eat throughout the day, what disorder might s/he

bediagnosedwith?/ﬂﬁ'Wmﬂﬁﬁmﬂﬁmgwﬁﬁmﬁﬂﬁm&?ﬁ
3WA HiA-A1 RER =T AT FhaT 8§72

1. Obesity / HIETAT
2. Anorexia nervosa / UaRT&rgAT i@l
3. Tic disorder / e fIPR



4, Insomnia / 3T

Correct Answer :-

e Anorexia nervosa / UARTGFGAT AdrdT

17) A Neo-Freudian, whose ideas on child development had a major influence, was | T 1g-

wrAfSae, foe® ganT arar e w e v =Rt &1 wF 931 o 9, 3 O
1. Erik Erikson / tR& tRaaa

2. Jean Piaget / S fUma

3. Carl Rogers / @Tel JsTH

4. Carl Jung / @&Tel gar

Correct Answer :-

e Erik Erikson / TR& tRaaa

18) Who describes mesosystem for how the different parts of a child’s microsystem work together for

the scale of the child? / frasr fAARITeA 1 afvia fFar F 59 TR =2 & AHRTEAT §F
RAffe a1 v Y = F T F T FF w9

1. Erikson/ 3RegaT
2. Piaget/ OIS

3. Vygotsky/ ATSINcEeh]
4, Bronfenbrenner’s / slieTtheTelleely

Correct Answer :-

« Bronfenbrenner’s / sliaTtheTelleely

19) Who first used the term “Self-actualization” to describe completion and unity?/ fFaa qotar ik
TEHAT & qUIT Fa1 & fAT Fa@ gga "3Jeq (g eareg &1 v23er fFFar ar?

1. Alfred Adler/ 37e%hs TSRk
2. Abraham Harold Maslow/ 37§T&dl &les ATl
3. Karen Horney/ @l @il

4. Carl Jung/ @&Tel a1

Correct Answer :-



« Abraham Harold Maslow/ 3T6TedH Ies HATEA!

20) The term SLD in children’s mental health denotes for: / a=af & AAAF TAELT H THTAS e FT
I

1. Self- Learning Direction. / Heh—clTeldT ST

2. Special Learning Direction / TUS dIfeiaT SRR

3. Specific Learning Disorder / TUfAfhe aifcter fBasieR

4. Symptoms of Learning Disorder. / Fuesq 3T dfeier B3R

Correct Answer :-

« Specific Learning Disorder / Tufafrer a1fcter Ba3iEt

21) The perception of a situation as a ‘whole’ gives a better understanding than the sum total of its parts
and makes the occurrence of insight possible. Which learning has this as its basis? / ’Ii'q‘?'i" T H R
Rufy i grom 3 REwl & Tt 77 dgay A & ¥ 3R A A gear Fr Foa T 7| MO
# P Qe F sHFT YR AT 4T 82

1. Trial and Error Learning / Gf1&70T 3R e 3o
2. Learning by Insight / 3idsf® & snmegsr & 3ifem
3. Learning by Imitation / 3{cehi0T & HICIH & QA

4. Learning by Experience / 3¥d & ATCTH & TUITH

Correct Answer :-

o Learning by Insight / 3asf¥ & AT @ ’A9TA

22) The child will be able to use proper sentences by the age of: / sTaT @& 37 ¥ 3T a=rdt Fr
39ANT FT qIA:

1. Five years / O g
2. Four years / TR ay
3. Three years / dlel ay

4. Six years / ©: a§

Correct Answer :-

o Three years / ol ay



23) The rules of presenting the content to make them easy are called J |l #Y A I e
¥ v s g #@ & At a &gl ST 1

1. Maxims of teaching / 8101 &1 Rargia
2. Techniques of teaching / T&OT Hr deheilch
3. Methods of teaching / fiayor r fafer

4, Teaching strategies / fU&70T TuTeifa

Correct Answer :-

 Maxims of teaching / f&ToT &1 &g

24) Proximodistal means: / WHIT ¥ g¥ (NFdIAIETee) F71 34 8
1. Centre to periphery / deg & R T (Vee ¢ ARE)

2. General to specific / GTHTT & AT d (S ¢ TUlATha)
3. Head to toe / RRA W F 39S T (85 ¢ )

4. Simple to complex / B & S dsw (FRAFuar ¢ HrFceldd)

Correct Answer :-

» Centre to periphery / g, T IR d& (HeeX [ IRR)

25) Teachers should overall have attitude towards inclusive education. /

R8T Y THI T F AT fvaT0r F yfey AT TEGT AR T

1. Positive / GbhRTcHh
2. Negative / ADhRTcHD
3. Different / QUch

4. Neutral / TsTey

Correct Answer :-

e Positive / GDhRTcHDh

26) Social construction of gender describes gender as: / foeT &1 TTATTSI® faAToT forer &1 gofer
m%:

1. Personal opinion of their biological sex. / fd@ fofiT & SR T I cafadid 4|



2. The behaviors and characteristics based on the biological sexes. /G\iaiﬁ foI9T b 3TTUR U qdo
3R fauarT |

3. A person is biologically male or female or intersex. / Tdh =g Sifde &0 ﬁwzﬁ AT AT
SAFIEAT & |

4. A social identity with characteristics placed by society for each biological sex. / Y& i feit & forw
AT GRT §18 15 faRwarsit & 91y U IrHifore uga |

Correct Answer :-

« A social identity with characteristics placed by society for each biological sex. / Y& S foiT & forw
TS §RT 915 T3 [ARISarsil & 91 U A1 ugar |

27) What are the three components of the educational process? / df&iF ufpar & i ges Far &2
1. Teacher, Student and Education /fQT&FF, o1 3R e

2. Teaching, Learning and Practice/fQT&WT, 37T 3R 3

3. Education ,Teacher and Books / fﬂ&ﬂ, TR 3R W

4, Direction, Instruction and Skill /1%{‘\’1'[, Hﬁ?{QT 3 Plerer

Correct Answer :-

e Teacher, Student and Education /fQT&F-F, o 3 feT

28) A teacher who pressurizes his/her student to take his/her private tuition
lacks in which of the following code of professional ethics? / T®h e CIRC UL
B I it egRM a1 & T gara saar/ sradt 8, Fafafed d 8 sud aaaie
Afawar 5t fea ifgar @1 w4t 32

1. Attitude towards students / &T31 &b T 31fHQ

2. Attitude towards colleagues /H’(—‘EF%’&TQWI% 3@@%
3. Attitude towards society / HHTS & Ui TfHIT

4. Attitude towards profession /W*ﬁm

Correct Answer :-

 Attitude towards profession /Wa?qﬁ}lﬁ_c[ﬁ

29) Kohlberg’s theory dealt with: / Flgeeer & RgHid & Fafoa &



1. Morality / ATdedr
2. Perception / IROTI

3. Cognition /3-173’3@

4. Interaction / &

Correct Answer :-

« Morality / Afdehar

30) Which of the following is the most effective way to create interest for learning in a student? /

frmfaf@a # @ #ar Rl o & 3feE & v 3R 31 RS F1 Fa@ o ader F=r @2
1. Show relevance to their future / 37ch HfasT & forw grafdrehar few@rar

2. Activity based learning / ITfafafd 3maiRa sreaas

3. Theory supported learning / TG 3MUTRT 3T

4. Teacher centered approach for learning/ 39T & fordr 3reaues sraia gfafy

Correct Answer :-

« Show relevance to their future / 3a7cp JTasT & forw yrdfRIepar @

Topic:- General Hindi (L1GH)

1) 1t 814 S, A g1y derT

TS BT YP AT e HR dgt IoT
GIRIUEE ]

B9 Agdardl A o Wi fraer ®eu Jern
AR A 71 BT ydd A i gepra

T 9Tg df Ual I &, IgHI 8 I3,
It g1y T

AETd Ut A B ¥@T WgTd & T ST
F I Bt WIfAR DY 3G U WIfeR H=AT
3T g ot v § Al oo g oft v
St wioTe T @Y Gfore ST v A,



areft g1y I

TS ¥ TH A df SavT 99 A4 @ gian

TP ¥ U A & wRE o o @ S

TP A U A ot IS o7 Fobar ¢ udd

TH ¥ U a5 99 § ) o forwa,
It g1y T

A1E | 59 ard fAeTd Aiedt g o |
WMigogagFAI AT g ST gAR 9 A

F9 9P AgTd & W1 A A reTd B wioie

BTY TSI DI A (U HUAT B awdiy, | ...
ST Ui ®) UgH 9 [P WM a1 U= BT I} Tarsy|
U TP & TP 1 A a1 gRar o oran 82
1. UBIS

2. G

3. Al

4. 5

Correct Answer :-

2) Irft g1Y g, At g1y e

TS 3BT YP AT e B agt IoT0
areft g1y I

B9 Agdardl A o9 Wi fraex ®ed sern
AR A 71 BIST udd A i gepran

T 975 df Ual I &, TgHI 8 I3,
It g1y T

AeTd Ut A B ¥@T AgTd & T ST
F I Bt WIfAR B 3G YT WIFeR HAT
AT g9 Wt Tw § At srue g oft T
3t wfSrer = Y Afere SrueT T A,



areft g1y FET

TS ¥ TH il df SavT 99 1A @ gian

TP A U A o wRE o e @ S

TP | U A ot IS o7 Fobar § udd

TF ¥ U a5 99 | ) o forwa,
It g1y T

A1E | 59 ard fAeTd wiedt g o |
WMigogagFAI AT ST gAR 9 A

F9 dP HeTd S W1 A I grard i woils

BTY TSI DI A U HUAT B awdiy, | ...
ST UL $1 UgH 9 [P WM ard U= $T I} Tarsu|
R fFud area @ ggHl A A 91 §) Al §2
1.g=dl &

2. fraTEt &

3. AR &

4. ATATDA HAIGI e

Correct Answer :-

o ATATDA Hslg &

3) et g1y g, At 81y ST

TS BT YP AT e B agt Io0
areft g1y T

B9 Agdaral A o Wi fraer ®ed Jern
AR A 71 BIST ydd A W gepran

T 976 df Ual I &, IgHI 8 I3,
It g1y T

AeTd Ut A B ¥@T AgTd & T ST
F I Bt WA B 3G U WIFeR H=AT
AT g9 Wt Tw § At srue g oft T
3t HfSrer = Y Afere SrueT T A,



areft g1y FET

TS ¥ UH Al df SavT 99 A4 @ gian

TP 9 U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar ¢ udd

TF ¥ U a5 99 | 7 o forwa,
It g1y T

A1E | 59 ard fAeTd wiedt g o |
WMigogagFAI AT ST gAR 9 A

F9 9P AgTd & W1 A A read B wioie

BTY TSI DI A U HUAT B awdiy, | ...
ST UL $1 UgH 9 [P WM ard U= $T I} Tarsu|
R Bfa A IRR F 5 3 31 Biard} war 22
1. a6 3R e

2. QT 31T

3.6 W

4, @ AR 96

Correct Answer :-

4) 9t g1y eI, It g1y ST

TS BT YP AT e B agt Io0
areft g1y T

B9 Agdaral A o Wi fraer ®ed Jern
AR A T BIST ydd A i gepran

T 976 df Ual I &, IgHI 8 I3,
It g1y T

AeTd Ut A B ¥@T AgTd & T ST
F I Bt WA B 3G U WIFeR H=AT
AT g9 Wt Tw § At srue g oft T
3t HfSrer = Y Afere SrueT T A,



areft g1y FET

TS ¥ UH Al df SavT 99 A4 @ gian

TP 9 U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar ¢ udd

TF ¥ U a5 99 | 7 o forwa,
It g1y T

A1E | 59 ard fAeTd wiedt g o |
WMigogagFAI AT ST gAR 9 A

F9 9P AgTd & W1 A A read B wioie

BTY TSI DI A U HUAT B awdiy, | ...
ST UL $1 UgH 9 [P WM ard U= $T I} Tarsu|
UY: TgR Hg-Id H I i 481 swar?

1. {TY GT SHBT aA A

2. Fifh IEr 3@k aq A &

3. Y Y YW1 W SHBT G AL

4, TIPRT UT 3HPT IA el

Correct Answer :-

. FIfh T sHP gy F ¥

5) it g1 FgrI, At 1Y ST

TS BT YP AT e B agt Io0
areft g1y T

B9 Agdaral A o Wi fraer ®ed Jern
AR A T BIST ydd A i gepran

T 976 df Ual I &, IgHI 8 I3,
It g1y T

AeTd Ut A B ¥@T AgTd & T ST
F I Bt WA B 3G U WIFeR H=AT
AT g9 Wt Tw § At srue g oft T
3t HfSrer = Y Afere SrueT T A,



areft g1y FET

TS ¥ UH Al df SavT 99 A4 @ gian

TP 9 U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar ¢ udd

TF ¥ U a5 99 | 7 o forwa,
It g1y T

A1E | 59 ard fAeTd wiedt g o |
WMigogagFAI AT ST gAR 9 A

F9 9P AgTd & W1 A A read B wioie

BTY TSI DI A U HUAT B awdiy, | ...
ST UL $1 UgH 9 [P WM ard U= $T I} Tarsu|
U $9 Hfda1 § ‘AgAas3r {5 w1 82
1. 3RTSAH deal Pl

2. 3T I ASIGY B

3. gUET IS TG drel

4. AgAd el B dTel Bl

Correct Answer :-

6) It g1y g, A1t 1Y ST

TS BT YP AT e B agt Io0
areft g1y T

B9 Agdaral A o Wi fraer ®ed Jern
AR A T BIST ydd A i gepran

T 976 df Ual I &, IgHI 8 I3,
It g1y T

AeTd Ut A B ¥@T AgTd & T ST
F I Bt WA B 3G U WIFeR H=AT
AT g9 Wt Tw § At srue g oft T
3t HfSrer = Y Afere SrueT T A,



areft g1y FET

TS ¥ UH Al df SavT 99 A4 @ gian

TP 9 U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar ¢ udd

TF ¥ U a5 99 | 7 o forwa,
It g1y T

A1E | 59 ard fAeTd wiedt g o |

S O §9 g § T } S gAR 9@ @

F9 dP HeTd S W1 A I grard i woils

BTY TSI DI A U HUAT B awdiy, | ...
SUYa Ui $I UgH? 1 I W a1 WA P Sk Ta1s¢|
UR: 9 Hfaar § W1t | 51U TG P Fg1 G [Huad! SR IR 82
1. AfeeT Tl @

2.3 3T &

3. 9Tt Holgdl |

4, AP A

Correct Answer :-

. HFR A

7) et g1y g, At 1Y ST

TS BT YP AT e B agt Io0
areft g1y T

B9 Agdaral A o Wi fraer ®ed Jern
AR A T BIST ydd A i gepran

T 976 df Ual I &, IgHI 8 I3,
It g1y T

AeTd Ut A B ¥@T AgTd & T ST

F I Bt WA B 3G U WIFeR H=AT
AT g9 Wt Tw § At srue g oft T
3t HfSrer = Y Afere SrueT T A,



areft g1y FET

TS ¥ UH Al df SavT 99 A4 @ gian

TP 9 U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar ¢ udd

TF ¥ U a5 99 | 7 o forwa,

It g1y T

A1E | 59 ard fAeTd wiedt g o |

S $© 59 giaT & o1 @ o gER w9

F9 9P AgTd & W1 A A read B wioie

BTY TSI DI A U HUAT B awdiy, | ...

ST UL $1 UgH 9 [P WM ard U= $T I} Tarsu|
UR: TP a4 ST e X 9191 SoMT | F1 a1y 82
1.3 & PIE e

2. 91T &I MY W IGAT

3. 3Thel 3G DI IR Bl

4. AT ST Tohl T

Correct Answer :-

o 37chel HGHT DI TN BT

8) Wt g1 g, AT FTY T

TS BT YP AT e B agt Io0
areft g1y T

B9 Agdaral A o Wi fraer ®ed Jern
AR A 71 BIST ydd A W gepran

T 976 df Ual I &, IgHI 8 I3,
It g1y T

AeTd Ut A B ¥@T AgTd & T ST
F I Bt WA B 3G U WIFeR H=AT
AT g9 Wt Tw § At srue g oft T
3t HfSrer = Y Afere SrueT T A,



areft g1y FET

TS ¥ UH Al df SavT 99 A4 @ gian

TP 9 U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar ¢ udd

TF ¥ U a5 99 | 7 o forwa,

It g1y T

A1E | 59 ard fAeTd wiedt g o |

S $© 59 giaT & o1 @ o gER w9

F9 9P AgTd & W1 A A read B wioie

BTY TSI DI A U HUAT B awdiy, | ...

SUYa Ui $I UgH? 1 I W a1 WA P Sk Ta1s¢|
TR U Wi g B HRI o T A ® frad I $1 91 31 E 72
1. JHTH AT Y

2. JHATH BT

3. JHATH Wd Hsigy &6

4, AEATDA A SAATTAAT &

Correct Answer :-

o ATAAH 3 SRraragr &

9) a1t g14 Fem™I, It 1Y T

TS BT YP AT e B agt Io0
areft g1y T

B9 Agdaral A o Wi fraer ®ed Jern
AR A 71 BIST ydd A W gepran

T 976 df Ual I &, IgHI 8 I3,
It g1y T

AeTd Ut A B ¥@T AgTd & T ST
F I Bt WA B 3G U WIFeR H=AT
AT g9 Wt Tw § At srue g oft T
3t HfSrer = Y Afere SrueT T A,



areft g1y FET

TS ¥ UH Al df SavT 99 A4 @ gian

TP 9 U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar ¢ udd

TF ¥ U a5 99 | 7 o forwa,

It g1y T

A1E | 59 ard fAeTd wiedt g o |

S O §9 g § a1 } S gAR 9@ @

F9 9P AgTd & W1 A A read B wioie

BTY TSI DI A U HUAT B awdiy, | ...

SUYa Ui $I UgH? 1 I W a1 WA P Sk Ta1s¢|
;3T g ft u g Ardft dee +ia fha g ot ua Sar veT 82
1. 3795 &1 e F @ I v Ta MRIT-NRT @
2. 49h g@ HAH ©

3. TG UH SR FHET &

4. 370 3R A1 & g@ e ¥

Correct Answer :-

o ST F ggeme I T I v TES MRT-PRT @

10) Irft B¢ g, A §1Y derT

TS BT YP AT e B agt Io0
areft g1y T

B9 Agdaral A o Wi fraer ®ed Jern
AR A 71 BIST ydd A W gepran

T 976 df Ual I &, IgHI 8 I3,
It g1y T

AeTd Ut A B ¥@T AgTd & T ST
F I Bt WA B 3G U WIFeR H=AT
AT g9 Wt Tw § At srue g oft T
3t HfSrer = Y Afere SrueT T A,



areft g1y FET

TS ¥ UH Al df SavT 99 A4 @ gian

TP 9 U A o wRE o e @ Sew

TP | U i ot IS o7 Fobar ¢ udd

TF ¥ U a5 99 | 7 o forwa,
It g1y T

A1E | 59 ard fAeTd wiedt g o |

S O §9 g § a1 } S gAR 9@ @
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'TEERT B YT 9T 7 ¢, A1 Aeh-gorrianeT i 37" FAT 3§ Fao W IaHarar, s W warell & Ja9 & q9T
g T Sl Y A @ AT 3

39T ACIRT F TGHT AT T AT YT FT Ieal I8V
YeT: FeAl FIAT HT AR {3 F FAT Gl dM?
R ary

2. STt

3. AT BT &8

4. ©dl

Correct Answer :-

25) & HIAT F g 7 mest

AT gaF #AFE # 38 FH) g €t ameln gam st arfeter A iy F AR IEA FATE F q g AT 7
ﬁaﬁmm%lmmﬁmmwmmamaﬁzmm%lama;mmm
mﬁwﬁlmmm|mmﬂmdﬁ:mr3@nmaﬁaaﬁm Wﬁh—wwwﬁﬁ
Wmlm#auﬁaﬁwmwmﬁw mﬁz*&ﬁaﬁmﬁ #srmaﬂrr T e oft dig
mvﬁm#ﬁ?ﬂzmﬂm #m#wﬁmwmaﬁmlmmmmﬁ:mm
m#maﬁaﬂaﬁ@rwmﬁ%mmﬁ*wa&m%ﬂnw7 maﬂé?ﬁamm’rlwm
mamgmmaﬁmaﬁraﬂzﬂmaﬂrm*wwwwmlmwﬁaﬁrmﬁaﬁaﬁﬁ
W|aﬁ#mﬁuﬁmaﬁmmmmw#W|mmlmmw mm@rm%

aﬁﬁﬁ?wmmﬁnmmfrmmlmmmlmmﬁmmm#w
mma@#q@-'ﬁwmm%mmﬁzmm\?'...mﬁﬂammmﬁa:m,mamﬁm&-wﬁ
T A R @ F F FAT F AAT garer fFAr E g, AN ar AT FAT @ 73X AN F 9K e §, §9R T
Fgd §l..fAaT a1g BT FEd A, O 919 FAAT FE W g9 &, W St F 9 R Fww & Fo ek

FEIR Tl FAUT FA-FIH Fgad T G T W Reod Fd & - g7 N FALAH & 741 ¢, a2 5 71 § v
FRTI IR AL

TR T WUT G # g, A1 Geh-gordiamer A d?' AT $6 A9 W HIHA1, S0 W FaArell F a7 wHT
a‘smﬁaﬁ?ﬁaﬁrmmaﬁ%l

3UYFA TSN Y YGHFT AN T TT FeA FT el IR
W Fel AATHE H H FA T F @ T

1. ST °Tel

2. ACYH dlel

3. el arer



4. goldhT dTeT

Correct Answer :-

26) o FIAT FI Hig AE U

AT R AHE A 3@ Feft g A€ el o AR Aot A AU F A SER FAGS & o gAA DR o
Rafaemar @ &1 [t aea & [ sRew 79 g9R WA &, @l Al at e B9, A F X R gsgd
St Tg...| FIAT Sl TN AT FAFT H 3G B Ao 38 FAT, g A A G F FI-WE W F@E oA
gch|m#auﬁﬁwmwm#w m;ﬁzaﬁaﬁaﬁmﬁ #srmman aq' e oft dfig
mﬁm#ﬁwmgvm ﬁmﬁmmwmﬂﬁaﬁhl'mmmmﬁ:mm
mﬁmaﬁaﬁaﬁaﬁrwm%mmﬁwaﬁm%mﬁm? maﬂé?ﬁamﬁaﬁlwm
mamgmﬁm*ﬁaﬁm#maﬁtma;wanwwmlmwaﬁﬁaﬁwaﬂaﬁ#
mma#r#mahaﬁmaﬁrammﬁnmm#awmmlmmw TR FAT-ER Fl ¢,
a‘é‘iﬁr##wmmmmma?rammlmmmlﬁwmﬁmmm#m
mﬂm#m TR A FAT § AT FAGG AT FE? LA BT aF A9 @ F a0, e el T F ooew A
w#ﬁv@awwm#émwﬁmmmama’rﬁrrmé’r%laﬁaﬂvﬁa;mwg% IR ATH
ﬁﬁ%l farr a1q FRaT FEa 9, mmmﬁwma mmﬁaﬁwmé’rmaﬂrmma‘r
mnm-mmmqﬁrmﬁwmmﬂ-mﬁ?m!...amﬁm%,a@?sﬁ

AT # T SR R AH...I'

'TEERT O YT @1 7 ¢, A1 AeN-gorianer i 37" FAT 3§ Fad W IgHaran, 701 W garel & a9 & 997
T WA it A 7T T A F

39YFA TSR H YGHFT AT T 7T FoA FT el I
TR: HIAT o AT F TG FAT AG A A AT F?

1. ARTH

2. dig

3. dd

4. OrAT

Correct Answer :-

27) 9 ..FTAT Y dAlg A& 3meed)
AT gFH AFE H 3@ F0 Alq 78 el gam s aifter it T F AR sHH FAGE F a9 AW

!
|

aéﬁaﬁamm%lmma;msﬁm?mmmamaﬁzm 2.9, dF F I
5 gegst T wgd | w0 St ol AT AEE § saR OfF o 38 F, Aig a@ e Ay 3
$9-WC W FAT AA §C YOI IAS F AYA T WE T G FAT F F@1 - Tl g Fwoft gt amoeh, F

ST T, aﬁl"n?aﬁaﬁaaﬁmﬁ W#Wamﬁgaﬁr-.'aém#qﬁﬁmnﬁﬁa
9T

Fa4

Tgdr § gAem FAI?.. waﬁévﬁamaﬂlwaﬁﬁmaaﬁmgmmmaﬁm#m
m$mmmwmﬂmwaﬁﬁmaﬁmﬁmlaﬁ#mﬁmaﬁm

9

WWW#W|mmlmmm IR JA-ER FT ¢, rel... FI%TWHZHGTQITI

4%



T FAT A A A g1 G o By FgEiREE A AR I { T AN A A YT - TR
A FAT § AT FAAG A FH?' LG T qF WY @A F A1g, e et T F o} H 99 A Qe @
T FalT & AT Fard fFar § e, A at AW Fr f §) A¥ Al F e #e € e9R A Fed
gl...faamr 9 R FEd 4, O 99 FHAT FF W g 9, g S F 7 R Fw & Fwer 3R 3w g
A FAAT FA-FH Fgd T T TR W ol @ & - g7 N FALTHT & F41 8, T2 AN 7 F 10
RV AR AL

'TFERT B WUTT G113 8, A7 Ah-garriarer At HR?' FAT $6 FaOIG G IJaHa], Sl W garal & srare
& WA 9§ TAQ AN Y FT A A B

39T ASHIT T IGH AR Y& AT e FT 3ca} IaBT
YR ATF ¥ IHeY 6T Far Sref?

1. @

2. Bich

3. S[TH
4. gsgat

Correct Answer :-

28) & ..FTAT F g AL mwad)

AT Tk AHE 39 F3ft ofg A el o R atfeter A Gy F AR SEH FAE F q@ gAA G-
a& RefRerar ®ar 81 Wl ana & W sfcua ¥9 gaR We @), et dfie ar et 7.,
Y gsgd et wgdt...| 00 SR @ AT AEE A sER dF AT 38w, dAiq 7@
$9-@IC W FAT AA §C YOI IAHS § AYA T W T U FAT F FE1 - Tl oAlg Fwoft g amoe,
ammm,mg"@mmﬁm,'mﬁmgﬁwm-'ﬂ?m#qﬁﬁmwm
TN’ FIAT IS AeAT 9T F AT NEar AFS H g F ot G Ay e Foret T FA? FA9E F 9
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3 FIAT FT IR A1 gar Faa ool B gEfhET i H gadr G § ger @
A FIAT § AT FHAGE A FHA? A9 et a%F 99 @A F 906G, WS d

N OF §aIT & a1 ware fmar §) e, A oar A s & § oA

1. A a1q F FEd &, 9 99 FOA FF w e 3, e S
A FAAT FA-FH Fgd T U T W ool @ & - g7 N FALTH A
VI FoIR AL

I & g1 A AT A TGN FAT WA AT - TN IAA-GR Far g, Fanl.. 78, WE gw wr o
a9

EEED
%aﬂﬁg

'TFERT B WUT GAT & 8, AT Fe-garrdianer A 37" FIAT §6 Fad W HTHA11, S0 W& garat F sarw
& WA 9§ TAQ AN Y FT A oA B

39T AGHIT FT IGH AR Y& AT T FT 3ca IaBv
weeT: arferer Hera: fha smar #7 asq 82

1. BRAT

2. 3R



3. 373l
4, feea

Correct Answer :-

29) o .. FTAT FY oAig F&T 3mee

AT gFEH AF H 3@ F0 g a8 el g sk aferer Ay A F AR 3EH FA9d F aw gAw AR
& ReRemar war ¢ [Welt ana F W sRcw ¥9 g9R e g, a8t dig At el 1A, A & e
5 gegst o wgdl.! AT EiFa Tl Av AFe A 3 SiF Ao 38 FEA, Al Ag e Ay F
%q-wwmzaﬁgtrt@nm#a@ﬁwm?m#m-'ﬁaﬁammmﬁ #
STt of, argl w7 oY dig adt ameah,) @ & Rone g §U Fel - '@ SorE A ugeh A HqY Al AL
3T’ FIAT IO AR AT F AT Nedr AFS F qq F A G Ay A Aot § TR FA9E F 99 &8
Tl § EAA FA..A1 F§ M IALAA TN TF FAT AT ST g R fr i { amar Ak
WA & I 3T F TF AT FIAT IAM Fo A AFd T ASA T I 7 q09 7 FGlear 1 3 gaan
39T F& g1 H ATl I 9T FIAT WA IAT - TN JA-GR FT ¢, Freml.. 7€, WE Fo w@r an wr
T FIAT H AT FqT g1 FEA ol Y FERRES F AR I ¥ Tl TN A A G - "JFERT
AH FAT § A FAAG A FH?' A T dF A @A F a1g, IS e T F o} A 99 A e @
T UF FaTd F AAT FaTd fRAT ¥ A, A A AT FAT € F AN A F gOR He € §9R AW FeEd
gl..faarr 9 AT FEd 4, O 99 FAT FE W o 9, e A a g Ra Fm @ For 6k 3w a1
Al AW FH-FH Fgd | GA T W Roont & & - g0 N FALAW & 740 8, a2 S 71 &

FRT| TR AA...I"

'TFERT B WY GO0 A 8, A7 Ah-garriarer At HR?' FAT 6 FaOI0 W IJTHa1, S W garal & &
& EAT TF S RN A AT T A B

394Fd AGHIT T IGHFT A & AT ToA FT 3ca qarsvl

weeT: fhaa e @ @1y R & 916 AR frw g9d 99 A R @ F wara fw?
1. G1d R AR T A

2.3 | PIg AL

3. 910 o 3R gae #

4. 91 e 3R 3 I @

Correct Answer :-

o Oad & 3R 3meh T @

30) 7 .. FTAT & dig AET 3T

T gFd AF H 3@ w0 g a8 el g sk aferer Ay A F AR 3EH FA9d F aw gAw AR
a& RefRemar war ¥ et aa F W 3w v9 IR [ &, el s ar ol da '
T geud ot wgdl...| F00 SiFA ol AT AFE A A S AT 38 FEA, g
%q-wwmzaﬁgcq@|m#agﬁaﬁwm§um LT Cict , 7
STt of, argl w7 oY dig adt ameah,) @ & Rene g U FeT - ‘7§ Sre A ugell I A dAlg g
3T’ FIAT IO AR AT F AT 'NeAr AFS F g F G Ay A Aot § T FA9E F 99 &8



Tl § FAA FA.A1 B M IAGAA TN TF FAT AT T g RS fr i § amar Ak

2

A & I 3T F TF AT FIAT UAM Fo A AGd T dASA T I 7 a9 7 Flear A1 3 g
WWW#W|WW|WWW TR AA-ER F ¢, Tr... e, Rd o @1 am Fer

mmﬁmngnsmmmmﬁwmﬁwmﬁﬁmgmhm#wnmq#qm TR
A FAT § AT FIHAGG AT FE? 0GB aF @19 @ & 91, mmﬁﬁm#m#m#ﬁam
wwmﬂ:ﬁwmﬁm%rmmmﬁﬂma%léﬁaﬂvﬂ%mw%mmﬁa
1. e a1q AT FEd 9, sﬂvwa:ﬁmargar{m ,msh#aﬁwmamaﬁrmw
Eﬁmnmmmmwrmﬁwﬁ—mﬁmﬁ ﬁ%mlam#w%m’?sﬁmfrm

FRRT| TR aAA...I"

2

'TFENT B WY G901 A 8, A7 Ah-gariarer A HR?' FAT $6 FaOI0 W FTHa11, S W garal & s
& WA 9§ A AN A AT 41 oA B

3YYFA TCHTA FT YGHT AT & AT G FT e IABTI
U FAT A TAS ¥ FAT A6 fhaAT?

1 i

2. AYA

3. 90 oel

4. IS

Correct Answer :-

Topic:- General Urdu(L2GU)
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Topic:- Social Science (SSC)



1) Consider the following statements and identify the right ones.
i. Warm currents bring warm water from polar regions to the equator region.

ii. Cold currents bring cold water from equatorial regions to polar regions.

fFrafafed F3= i) faar o1 3R a8 $u= 3t tgae S|

i, T URTE, gdta & A yHeRy &= 9@ T wie ardt g
ii. SUSY YRTY, YAy &=t A ydia & a& ds1 9a @ 21
1. ii only / thaeT ii

2.1only / hde i

3. None of the statements / 378 & PIS &

4. Both the statements / 3T QAT HUA

Correct Answer :-

« None of the statements / $T-I?3f b aﬁé Tl

2) Who remarked that "We must put an end to planning from above. We must put an end to
priorities being conceived and decided at ethereal heights, far from ground realities"? /

fram a1 f, g8 Sud TR A FreE &1 sid HeA1 A1fgn| 59 gars Sursal W ol arafiearsi ¥ g,
T 3R FRreifya &Y w1 wrafrearsit &1 sia w1 =nfgwl”

1. Rajiv Gandhi / Jrstta amedy
2.Shri S. K. Dey /%Y Tq. &. 8
3. Vinoba Bhave / faalar $mar
4. Medha Patkar / YT U

Correct Answer :-

« Rajiv Gandhi / Tt Y

3) Who created Indian National Army (INA)? / HIRdIG AP T (IMSEAT) 1 Fafor fara= famar ur?

1. Peshwa Bajirao / QTdT STSiIRTd

2. Saiffuddin Kitchlew / §GEI frare]

3. Madan Lal Dhingra / #GsT olTel GIIRT



4. Netaji Subhash Chandra Bose / =ldiToil gAY Ig O

Correct Answer :-

« Netaji Subhash Chandra Bose / =dTail gAY g a9

4) Which of the following is correct about Indus Valley Civilization? / ﬁiﬁ{ T Juar & fawg o
fafRfea i I mna@ 22

i. It had well planned cities / Sﬂ'ﬁ'ﬁﬁﬁﬁﬁw q|
ii. It had elaborated drainage system / Wﬁwﬁw TaRT At

iii. The most common motif found on Indus Valley seals is unicorn. / Rig] g1¢t @t ggi ¥ uram 9= arar
T AR i+ T {7 16T FaR 7

1. All are correct / Ty TEr &
2. Only i / ¥ae ii

3. Only iii / &de iii
4.0nlyi / ¥ae i

Correct Answer :-

« All are correct / @ T&r &

5) Which COP (Conference of Parties) resulted in the formulation of the Paris Agreement? /
fa cop (wféal &1 awia) & ufkomaasy Ui ausha o1 fAator gam?

1. COP 18

2. COP 21

3. COP 15

4, COP 23

Correct Answer :-

« COP 21

6) NITI Aayog stands for ./ ifq ARt (NITI) 31 favga &= v 2l
1. National Institution for Training Information / SRTeTel 3@?\2{?]?[ HR [ABT) é'QTIﬁQIT-T

2. National Institution for Transforming India / SRl W‘\’H BR @ﬂ'qﬁﬁ?T 3T



3. National Institution for Transition India / S¥2IeTel WQH BR SIfaer sfEar

4. National Institution for Take India-forward / ATl FEEICYLMA BR ek sf3ar-vRas

Correct Answer :-

« National Institution for Transforming India / STel 3@2};@13 HR Wﬁﬁ'ﬂ sf3ar

7)  Match the following:

1. Humayun A. Humayunnamah
2. Gulbadan Begum B. Badshah nama
3. Aurangzeb C. Alamgir

4. Abdul Hamid Lahori D. Insan-i- Kamil

T & @aa w51

e =

1 gARL A, GATY ATAT

2. Ferdg oA B. @leMg =ATHAT
3. 3ReerE C. ITeHNR

4. 3egel gHIG oBHT D. SeHIA-U-HIH

1. 1-A,2-B,3-C,4-D
2. 1-A, 2-C,3-D,4-B
3. 1-A,2-C,3-B,4-D
4. 1-D,2-A,3-C,4-B
Correct Answer :-

« 1-D,2-A,3-C,4-B

8) Famous Women ruler Chandbibi of Ahmednagar fought to protect her kingdom against: /

IFUSTR 1 URIE AT IS Figdial = U= I Bt I8 & g 37 9o as15 ast O
1. Mughals 7/ #raa

2. Nizam forces of Hyderabad / &c3marg & &= dar

3. Adilshahi force of Bijapur / fSmqT & 3nfeeremer dar

4, East India Company / $¥c &1 &uar

Correct Answer :-



¢ Mughals / #Irer

9) The purpose of field work in the teaching of social science is: / grTfore fagm= > e ¥ wies ab
BT I gl

1. To take note of historical events / ﬁ'ﬁ%’lﬁ_ﬁﬁ g3l W €I St
2. To gain direct concrete experiences / Ucd&l a1d AJAT U1d hAT
3. To enjoy the sight seeing / TS &1 3G ol

4. To have more socialization / 37T9® FHTSIDHIOT HAT

Correct Answer :-

« To gain direct concrete experiences / Ucd&l a3 AT Y18 hIAT

10) The approach that is very useful in organizing the content in history is: / gﬁm’\q H fawg '\‘]?ﬁ Ca|
AR B F AT St DB 9ga STanh §, a8 gl

1. Concentric approach / g TIEPIUT
2. Topical approach / HTHATAS TTRRIOT
3. Spiral approach / AfUel Ti¥eIOT

4. Chronological approach / EFIT*I'I?:EF@EF HECT
Correct Answer :-

« Chronological approach / EFI'FIT@ZF@EF HECT

11) In which year was the battle of ‘Koregaon Bhima’ fought? / BT AT F FI?.TQ fpgad & §€
A

1. 1718
2. 1818
3. 1796
4. 1857

Correct Answer :-

- 1818



12) strategy in which the government encourages the local production for
domestic consumption to reduce the dependency on imports. /

T¢ W e SRR AT X AeRar & F7 79 8 e @99 F AT TUET 3caeaT F#
wreaTea e ¥

1. Export promotion / fafa dada
2. Tariffs / YR[e<h
3. Import substitution / 3TITA UTAEATT

4. Quotas / PIeT

Correct Answer :-
o Import substitution / AT UfAEATTA
13) NAFED stands for . 1/ NAFED &1 d9d gl

1. National Agricultural Cooperative Management Federation of India Ltd. / SRl Tdfidhealel
FIHTRIET HATHAC B HH a1 fofdes

2. National Agricultural Cooperative Marketing Federation of India Ltd. / ARTddl Tdfihealel
PRI AHRET Hhaa Aw sBEar s

3. National Agricultural and Commerce Management Federation of India Ltd. / SAeTel TflheaR US
PIAY AT B 3016 fzar s

4. National Agricultural Confederation Management Fund of India Ltd. /

TE Tfihedial BIhad daordic Hs A s3ar fafdes
Correct Answer :-

« National Agricultural Cooperative Marketing Federation of India Ltd. / SATel Tdflhoddl
PITRIeT AhET heieE 3w siEar ofaes

14) Student gathers information or knowledge by forming the association and working in team

is known as: / BTF T HT ST I SATTHRT AT AT FHCST FIA § 3 OF &H FF
¢, T W T A ST S

1. Problem-based learning / THEAT - TUIRA 31TAITH

2. Community-based learning / W-Z‘Jﬂ‘iﬂﬁ? 3T

3. Collaborative learning / WTC[U& 31T

4. Experimental-based learning / U MUTRT 3191

Correct Answer :-



 Collaborative learning / WTC[U& 31T

15) What is the approximate distance between earth and the moon? / ?ﬁ AR T & fiw
#r gt earerer fraedt 82

1. 38400 km / 38400 TeRaT.
2. 384000 km / 384000 fepaiY.
3. 250000 km / 250000 TepaT.

4. 25000 km / 25000 fRaT.

Correct Answer :-

- 384000 km / 384000 TehaT.

16) When did Nadir Shah invade India? / ey g & 9RA 9 FT ITHAOT FA1?
1. 1766

2. 1749

3. 1759

4. 1739

Correct Answer :-

« 1739

17) ‘Local Government’ is a subject which falls under list. /
TYRAT TEHER' F Regarg g N & g & siadda e 31
1. Concurrent / FHAT

2. State / 75T

3. Central / g1

4. Local / TJTHAT

Correct Answer :-

o State /I



18) Social science as a discipline is a combination of: / T80T & T & wENO® AR
F TH A ¢

1. Sociology, culture, evolution, economics / HHATSIRATH, g Q-cglra R ﬁ?ﬁm, FIIE

2. Anthropology, sociology, culture, history / o-g_lraﬂlo-l, HATSARMTEH, H{-C{}Ta, 31?@11
3. History, anthropology, science, psychology / 3fderd, o<, fa<re, A=

4. History, economics, language, music / Eﬁ'ﬁlﬂ, 3 ?iQTR—EL HTYT, gafia

Correct Answer :-

« Anthropology, sociology, culture, history / oﬂ&ﬂld, ATSILME, {-cgfa, Eﬁ?ﬂf

19) In which state of India is Intensive subsistence paddy farming practiced? / 3IRd & &
T # g FaTE & o a7 fr @ y=faa &2

1. Punjab / dsra
2. Rajasthan / sy

3. Gujarat / I[RTd
4. West Bengal / UT%I3T 9ol

Correct Answer :-

« West Bengal / PRI &3l

20) Who among the following established the Tattvabodhini Sabha in 1839 at Calcutta (Now

Kolkata)? / &=faf@a & @ fraar 1839 & Fdshdl (3T HIdRIAl) & degaiidedl THT HY
TYTY=T HI?

1. Devendranath Tagore / gdgay &R
2. Kesab Chandra Sen / &« @g I
3. Ishwarchand Vidyasagar / $4Rdg TIamamR

4. Raja Ram Mohan Roy / T I# #Aea AT

Correct Answer :-

« Devendranath Tagore / gdgaty &R



Who among the following is the proponent of ‘Pragmatism’? / RFafaf@d & ¥ “cyagRarg”
& GFAGH FieT 872

1. B.F. Skinner / &1.U%. [Thax
2. Albert Bandura / 3odc E|§Tr
3. Adam Smith / TsH TAY

4. Soren Kierkegaard / TRA HIHTS

Correct Answer :-

« Soren Kierkegaard / GRA HIHTTS

22) Who is the main exponent of concentric approach in curriculum? / 9TSdha H ghfga
TRCHIOT FT AEF YfaueF: FieT 82

1. Crowder / ShIST
2. Skinner / TEhaX
3. Bandura / €|§Tf

4, Burner / EI?-‘IT

Correct Answer :-

e Burner / Gr=ry

23) Who took the initiative to convene the Asian Relations Conference in 1947? /

1947 ¥ vlRAE ey FAdaA (TR Reew $iehd) JAfST Fa@ i1 ggd a2
1. Yugoslavia / zpﬂwrﬁm

2. China / el

3. India / AR

4. Egypt / 7@

Correct Answer :-

o India/ ART



Ina society the goods produced are distributed among people on the basis of
purchasing power. /

TH AT A 3 avq3t F1 F7 AFT F IR | ot F i Faka fea
ST B

1. Planned / @afaa
2. Socialist / GHATSTATET

3. Capitalist / G@iaTer
4. Mixed / TRfAT

Correct Answer :-

« Capitalist / CErﬁT‘-I'Ia

25) For teaching current events in social science, which activity is most suitable? / aASS

e & aaae geanEt & Reror & v w9 @ R 9@ swgEa
1. Source method / & Tafer

2. Play way method / Wel gRT frafor fafer

3. Debate / dTg-fadrg

4. Lecture method / <& fafQy

Correct Answer :-

« Debate / dTe-Taarg

26) FFW stands for .| ThUGSeY (FFW) &1 faeqa & gl
1. Food For Work / Ths TR g

2. Fund Formation Window / & W fdar

3. Foreign Funds Warehousing / B ch?ﬂ:f AIIETS T

4. Federation for Financing Weaker sections / HhEIRMA BiR BIEATHIT Al JFAA

Correct Answer :-

« Food For Work / € ®IR d&



is the principal advisor to the Chief Minister on all matters of state policies and
administration. /

U # Afeat AR gawd F @it AvTEl W AT F1 W@ §AEER g 8l
1. Joint Secretary / Fl'ﬂ?ﬁ afa

2. Additional Secretary / 379X Hfa

3. Chief Secretary / &I afa

4. Principal Secretary / YTl @fq

Correct Answer :-

o Chief Secretary / &I giaa

28) is a body consisting of persons registered in the electoral rolls relating to a village
comprised within the area of Panchayat at the village level. /

ww e § S e @ wefta RaEs awafeat § oofiga safea afae @
g, 3 A TR W 999 & &7 & AT ghar g

1. Gram Panchayat/ ITH T
2. Gram Sabha/ ITH HHT

3. Block Panchayat/ solfeh TTId
4. Tehsil/ d&dTel

Correct Answer :-

o Gram Sabha/ ATH AT

29) is a programme which has been renamed as Nutritional Support to Primary
Education.
/ T Ao g, O wrafas Raw & v Owor ggar & & F a9 I

el

1. Health and Nutrition to Rural Poor / TTSTOT II¢El I FTareeg 3R qiwor
2. Mid-Day Meal Programme / F#EITE HIST Trotell

3. Special Nutrition Programme / fa¥ QIWoT 151t

4. Nutritional Facility to Children / <di @l GIYOT &Y gﬁf‘iﬂ



Correct Answer :-

« Mid-Day Meal Programme / F#EITE Aol ATl

30) moved by Pandit Nehru, provided the underlying principles based on which the
Constituent Assembly completed the task of framing the Constitution. / 9f3q Ag®
gaRT wFdTfad fFar = ar, 9w srafifea Rguial &1 verer fFam, st sl wam
AU A RR & w7 FE Q@ R 39F 3MUR 9 Al

1. Executive Direction / SIRIGHI fAEAA
2. Orders / 3TTGRT

3. Guidelines / fgRm-fader

4. Objective Resolution / 38T Hhed

Correct Answer :-

« Objective Resolution / 35T Hehed

31) is held when there are more than two candidates, and none of the candidates
secures an absolute majority. /

a9 Ifea @ar § 99 & ¥ 30T 3FigaR g & 3R FiE st sFfigEr qof
IgAT FIAW AGH HIT

1. Second Ballot / f§ciir #FAUT (THUs dole)

2. Third Ballot / it FAAUT (TS delc)
3. Preferential Voting / 3T FgrT

4. Open Ballot / eIl HJUT (U deic)

Correct Answer :-

« Second Ballot / fgdilT FAdUT (Ahvs dele)

32) Commission enquired into several aspects of allegations of abuse of authority,
excesses and malpractices committed at the time of emergency. /

AT F IR F SR FAFR, SAreet AR gotaer & 3t F F§ ggeat
$r JrT A

1. U.C. Banerjee Commission / &, deTail AT



2. Kothari Commission / @ISR 3TAT4T
3. Phukan Commission / Pehed 3T
4. Justice J. C. Shah / =argaffd 1. &Y. A&

Correct Answer :-

« Justice J. C. Shah / =IT¥effcl oI, &I e

33) Under whose reign was Upanishads translated from Sanskrit to Persian? / fFa& emasiarer &
3ufavel #1 FFpd ¥ GRE F earg Far aam ar?

1. Jahangir / SRR
2. Aurangzeb / AReeE
3. Shah Jahan / emesTer

4, Akbar / 3haX

Correct Answer :-
 Shah Jahan / emgster

34) The Minimum Support Price was introduced in India in the year ./
TIAGH WHAT Hed ARG A a¥ _ F der frar mam am

1. 1964

2.1954

3.1974

4, 1984

Correct Answer :-

- 1964

35) The theory of experiential learning was introduced by: / YTNfA& AT &1 ﬁ'&'}l’l’('-l' COoC
GarT 99T fRaT arar o

1. Carl Rogers / Frel Ao
2. Tolman / Tieldd



3. David Kolb / 3fds pred
4. Bandura / gl

Correct Answer :-

« David Kolb / /s e

36) The most striking quality that a social science teacher needs to acquire is: / T& HHATA®
e e w1 affaRRa w= F v g9 #Agcaqer or F=r

1. Frequently conducting weekly tests and assignments / facg @marfed gdigTor 3R 3r@EAdC
AT BT

2. A feeling of developing democratic citizenship / SllehdliAch AT [ARTAT PIA I
HATIAT|

3. Conducting extra classes during holidays / gﬁiiaqi & eI ATARE HET AT HLAT|

4. Control the students and maintain strict discipline / &l &l AIRAT HET 3R T&d
HATHA TATT IG=AT|

Correct Answer :-

« A feeling of developing democratic citizenship / b Ah ATTRBAT TARAT BIA I
HATIAT|

37) The Reserve Bank of India was nationalized in the year .
HRAT R & &1 Tsdgavor af & e a4

1. 1960

2. 1950

3. 1949

4. 1951

Correct Answer :-

« 1949

38) The Constitution of India vests executive power of the Union formally in the .

HRT &T FIAU # vae v ¥ 99 ff FREN afFT F AftT ar B



1. President / ITEUfl

2. Prime Minister / TITAAAT

3. Cabinet / AFHASA

4. Council of Minister / FAT URUg

Correct Answer :-

o President / TgUfa

39) Teachers encourage divergent thinking and allow students the freedom to ask their own
questions and to learn the effective strategies for discovering the answer. This method of

learningknownas:/ﬁﬁmﬁmﬁmmgﬁmﬁmmﬁw
IR 3 A @ F AT gt ARt # A f Fgaaar 9 g1 e fr g7 [/
&

1. Problem-based learning / HHEIT-3TUTRA 3191
2. Technology-based learning / WIAIATT-3maTRA 31791
3. Inquiry-based learning / 3H=dWoT-3TUTRA H{QA9TH
4. Activity-based learning / ITfafafe-3meanika 3o

Correct Answer :-

« Inquiry-based learning / 3=duoT-3TaTRd 3TAITH

40) Defining the problem, analysis of the problem, collection of data, interpretation of data,
testing hypothesis and making generalization are the procedures in: / FHEIT HI TRTRT

AT, GATAT FT AV, 32T FT FIg, 32T A1 arEd], IRFeqar HT gheror a7 iR
AAAFIOT FLAT e # Frdvonfaar §: -

1. Steps in discussion / ==t & =R
2. Problem solving / HHEAT HATYTA
3. Project method / URITSTAT (Wiatee) fafer

4. Supervised study plans / TIATRIT JCIIA et

Correct Answer :-

 Problem solving / HHEIT HATUT



41) Which is the earliest script found in India? / HRd & 91§ A arell Fad ggell AT i
@ &

1. Aramaic / 3RTHP
2. Kharosthi / @SS
3. Greek / f1h

4. Brahmi / STl

Correct Answer :-

o Brahmi / ars?r

42) Which of the activity is not included in inquiry-based learning? / ®ia-®Y srfafafer sr=awor
arenRa rfter & anfae adt &2

1. Written assignment / ToIf&d 3 aEs1c
2. Field work / ®Tes adh

3. Case studies / hd FI

4. Group project / HHE gAY

Correct Answer :-

« Written assignment / fof&@d 3asadc

43) Which of the following British Acts led to countrywide mass protest in India? / Rfaf@a &
¥ forw fafeer sfafaasr & #Ror sRa & qereardt anffes faver o rm?

1. The Press Act 1910 AD / U9 3iff4a# 1910 $¥al
2. Rowlatt Act 1919 AD / de wae 1919 $Hdr
3. Multifanged Defense of Indian Rules 1915 AD / #Rcig fa@#r 1915 et 1 aguaha am

4. Indian Criminal Law Amendment Act 1908 AD / #ARAT 3T0fAF Hiqd dMy ifafagar 1908
sqar

Correct Answer :-

« Rowlatt Act 1919 AD / e Tae 1919 SHar



Which ruler of medieval India was credited for construction of Grand Trunk Road? / 33 &= s
& famor &1 A7 ATgEeT HRA F FE aE B REAr =T ar?

1. Aurangzeb / 3Reaa
2. Babur / TR

3. Sher Shah / R-2MME
4, Akbar / 3fhaT

Correct Answer :-

« Sher Shah / R-aME

45) Which ruler authorized British East India Company to trade with the East? / f&a s &
fafeer §ve 33 ol Y $¥ & Wy =R w@ F AT afaga fFRar?

1. Elizabeth | / tufersmay [
2. Elizabeth I / tfoamea 11
3. Elizabeth III / ufoamay 111

4, Elizabeth IV / twfoamy IV

Correct Answer :-

« Elizabeth | / tfoamey [

46) Which among the financial institutions prescribed Liberalisation, Privatisation and
Globalisation model as part of stabilization and structural adjustment mechanism during 1991?
/

1991 & RmeT 3o fadlwr avgEl & @ frasr sgrieor, @shistor st dedieor gfaaer #r
Rrdieor 3t TEATeASd TAReT JF F {REY F w0 & [ R 2

1. International Monetary Fund and World Bank. / 3RS &l H1¥ 3R fay d

2. International Monetary Fund and Asian Development Bank. / 3-1«-74?1’@'5[ Hal w3 TR
faere o

3. International Bank for Reconstruction and Development and World Trade Organisation. / aawg’m

g AR e do AR 7w R direa

4. World Bank and Asian Infrastructure Investment Bank. / fa%1 d& 3iR U'fng SPIECFUI
gAdECHT dep

Correct Answer :-



« International Monetary Fund and World Bank. / 3f<RT$1d HgT H1Y 3R fay s

47) Which among the following skills is not essential for a social science teacher? / faF=ifaf@a
# ¥ Fia W sl awfees {as & wF @ew & v sfaa a8 @2

1. Drawing, explaining, revising, reviewing / 3-]1'1'@'UT, Tl hdl, AT AT, GHTETT BT

2. Questioning, eye to eye contact with students, reciting / W4 &, BTEN & 3@l &1 Huh
AT, IUTT BT

3. Precision, computation, measurement / Q‘?\"Q!EHI, WHT, AT

4. Voice modulation, eliciting responses, elaborating / 3TdTal HH'TE\'EETQH, gfaferare arg &,
Tl hil

Correct Answer :-
« Precision, computation, measurement / uﬁi’!aal,mmm,m

48) Which type of help and assistance is required for a student who is extraordinary brilliant in

the school? / RAgITeT & & rATUROT yfasmerel & & v fFw yFR @ werar #R
TEANT Y IHTIIFT gt 82

1. Gifted classroom environment / UTIHIRITST &Il T ZFI'I?-TFT

2. Providing him enriched environment / 39 g dIdTdOT YcTel hel
3. Provision for special education / T fy&Ir 1 graur
4. Providing additional assignments / 3TaR<h P YT HLAT

Correct Answer :-

« Gifted classroom environment / UTIHTRITS eIl &l IFI'I???FT

49) Which type of weathering agent/process is more active in a limestone area? /
5w R T 3r9erT, FAFAFAT tF AT gow) a7 F 3w wfnw far g2
1. Insolation / 3TdU

2. Vegetation / aaeafa

3. Frost/ JuRR (p1¥<)
4. Carbonation / TETICIRIOT (HTaTT)



Correct Answer :-

« Carbonation / HTaTACIhIOT (HTaTT)

50) An example for formative evaluation is: / 3taaTR® H\?ﬂ'ﬁv_a-l' T 3GTEI0T &I
1. Monthly test / HT{&h T{&0T

2. Practical test / UTAIf3Ieh TI&ToT

3. Teacher made test / U7 gIRT GT&ToT

4. Rating scale / TCdIT Thel

Correct Answer :-

« Monthly test / HTT&d T{&T0T

51) Where is the Ibadatkhana, the place built by Akbar for learned men from all religions were
called for discussion, situated? / 3FaX ART TATAT IAT TI “gaGaEET, JE1 TH il & Ream
F T4 F AT oA ST 9T, FE e?

1. Fatehpur Sikri / ®deq? &
2. Lal Qila / ot fererm
3. Sikandara Fort / e forerm

4. Agra Fort / 3TRT &1 Rl

Correct Answer :-

« Fatehpur Sikri / Bdgqy f&Hd

52) Chitrasutra of Vishnudharmottara Purana documents the following cave paintings: /
fasopefar qor & R # Aafaf@a o /e & smaw §

1. Elephanta Cave / Teltthel [T
2. Nasik Cave / @18 T

3. Ajanta Cave / 3sidl I

4. Bhaja Cave / 1T %1
Correct Answer :-

+ Ajanta Cave / 3fsidl [T



53) Which of the following is also known as Microlithic period? / Awfaf@a # &
TN Fer F T A - Jrem Frar 22

1. Neolithic / FauTuToT HTel
2. Paleolithic / dmuToT @rer
3. Chalcolithic / dmrger

4. Mesolithic / &t gmuToT

Correct Answer :-

« Mesolithic / #&g gruroT

54) Who hoisted the national flag at Gowalia Tank Maidan in Mumbai during ‘Quit India
Movement’? / ‘HRa BISY Haleel” F SR Ha$ F Marfaar EF A & fraa TdT eas wearm ar?

1. Jawaharlal Nehru / STae<ere Jg&
2. Aruna Asaf Ali/ 3120 3THE el
3. Mahatma Gandhi / #gTcaT Iy

4. Sarojini Naidu / ST 13

Correct Answer :-

o Aruna Asaf Ali/ 3750 3% 3Tl

55) Lines connecting places having the same barometric pressure is . AT RARE
gdTd Tk TYTET Y SiSer arely @ gt &1

1. Isoheight / @a5arg Y@T (3M8AERET)
2. Isohyet / Toaul Y@1 (3M3ARIT)

3. Isobar / FANR @I (3TSEER)

4. Isotherms / HHATT-YGT (3TSHTYH)

Correct Answer :-

o Isobar/ TFAR @I (BHER)

56) Which of the following mountain ranges forms the longest mountain chain in the world?



(frrafaf@a & & #la @ vda y@ar fAeg fr ga@ & wdd y@en 2
1. The Rockies of North America / 3dX AT & Ihra

2. The Andes of South America / Gf&I0T 3AR®T & VUETS

3. The Great Dividing Range of Australia / sifecforar #r Je faures qddaTelT
4. The Transantarctic Range / UR-37CIdhicd TddTel

Correct Answer :-

« The Andes of South America / &T&I0T 3THNAT & VUSI

57) What is Chernozem? / Iaifotd 4T g2

1. Lateritic soil / ol¢XT3¢ el
2. Red and yellow Soil / @Tel 3 drell FeT

3. Deltaic alluvial soil / ST STelg Hal
4. Black Soil / Tell ar

Correct Answer :-

« Black Soil / STell HeT

58) The Jhamarkotra mines of Rajasthan are best known for which among the following
minerals? /

TTETT HT AR @ F Arafafad @faet & @ Fad @ 30 s amEr €2
1. Rock Phosphate / Ifch BIE%HE

2. Lime Stone / Yl U

3. Zinc / STE&AT

4, Mica / IHh

Correct Answer :-

« Rock Phosphate / I HIEHE

59) The word “El Niiio” comes from which among the following languages? /

“uer Al e AFARf@T & ¥ fFg awr @ o= = 82



1. French / vd
2. Arabic / 3&T

3. Spanish / TAfALT

4. Portuguese / g?—h'l'l?ﬁ

Correct Answer :-

« Spanish / Tufaer

60) Vikramshila Gangetic Dolphin Sanctuary is located in which among the following states of
India? /

faspaiRrer i SifRp srvarRvy, YR & fafafad d 3 fra a0 d R 22
1. Bihar / &R
2. West Bengal / U1 &9TTel

3. Assam / JI9H

4. Uttar Pradesh / TR WSl

Correct Answer :-

« Bihar / T¥&R



